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BBA SEM 5
ASSIGNMENT

1.Ram Ltd. Produced a detergent “Ramayan” which passes through three process before completion and transfer to the finished goods warehouse. From the data relating to this product you are required to prepare process accounts and other relevant accounts:







(20)
	Particular
	Process A
	Process B
	Process C

	Raw materials input(5000 units)
	Rs.3000
	---
	---

	Raw materials added in process
	Rs.4250
	Rs.4750
	Rs.2750

	Direct Wages
	Rs.2000
	Rs.3000
	Rs.6000

	Direct expense
	Rs.600
	Rs.465
	Rs.670

	Output (in units)
	4600
	4350
	3950

	Normal loss in process of input
	10%
	5%
	10%

	All loss has scrap value per unit of
	20 paisa
	50 paisa 
	Rs.1


Production overhead cost was Rs.8250 which is absorbed as percentage of direct wages.
OR

1.In Aayushi Pharma Co., main product is D and by-products are M & J. The combined expenses are as under: (20)
Materials

Rs.34,100

Wages


Rs.24,200

Overheads

Rs.18,700

Separate expanses are as under:

	Particular
	D (Rs.)
	M (Rs.)
	J (Rs.)

	Materials 
	6000
	4800
	5400

	Wages
	7200
	4200
	5100

	Overheads
	7800
	3000
	3500

	Selling price
	1,26,000
	52,000
	50,000

	Profit on selling price
	50%
	50%
	30%


Prepare statement showing distribution of combined expenses.

2.From the following information of Gayatri Ltd., prepare cash budget for the three months from April to June 2020:













(20)
1. Cash and bank balance on 1/4/2020 is Rs.60,000.

2. 
	Month
	Total sales (Rs.)
	Purchases (Rs.)
	Wages (Rs.)
	Overhead Exp. (Rs.)

	February
	6,00,000
	3,00,000
	1,20,000
	1,12,500

	March
	4,50,000
	2,70,000
	1,08,000
	97,500

	April
	6,50,000
	3,30,000
	1,44,000
	1,27,500

	May
	9,00,000
	4,80,000
	1,50,000
	1,42,500

	June
	5,00,000
	2,40,000
	1,26,000
	1,12,500


3. Assume 40% of total sales are cash sales and 60% of credit sales.
4. 50% of credit sales are realized in the month following sales and the remaining 50% in the next month following.

5. The period of credit allowed by supplier is one month.

6. Overhead expenses include Rs.22,500 per month for depreciation on fixed assets.

7. The tome lag in payment of overhead expense is ½ month and time lag in payment of wages is 1 month.

8. In June,2020 debenture interest of Rs.37,500 is to be paid.

OR

2.A factory is currently working to 50% capacity and produces 10,000 units, Estimate the profits of the company when it works to 60% and 80% capacity and offer your comments.



(20)

At 60% working, raw material cost increases by 2% and selling price falls by 2%. At 80%, raw material cost increases by 5% and selling price falls by 5%. At 50% capacity working, the product costs rs.180 per unit and is sold at Rs.200 per unit.

The unit cost of Rs.180 is made up as follows:

Material

Rs.
100

Material

Rs.
30

Labor


Rs.
30

Factory expenses
Rs.
30 (40% fixed)

Administration O/H
Rs.
20 (50% fixed)


Total

Rs.
180 

3.Data about standard cost of a unit of output in a factory is as follows:




(15)
Material:

4 kg Rs.50 per Kg

Rs. 200

Labor


50 hrs Rs.1 per hr.

Rs.   50








Rs. 250

Data about actual costs:

Actual production 100 units.

Material: 

390 kgs Rs.52 per kg.

Rs.20,280

Labor


4920 hrs Rs. 1.10 per hr.
Rs.   5412








Rs.25,692

Calculate material and labor variances.

OR

3.Data about labor employed in a factory to produce one unit of product X are as follows:


(15)
	Labor
	Hours
	Wages rate (Rs.)
	Total payment (Rs.)

	Skilled workers
	10
	3.00
	30.00

	Unskilled workers 
	16
	1.00
	16.00

	Semi-skilled workers
	8
	1.50
	12.00

	
	
	
	58.00


Actual situation:

Actual production 200 units:

	Labor
	Hours
	Wages rate (Rs.)
	Total payment (Rs.)

	Skilled workers
	1800
	4.00
	7200

	Unskilled workers 
	4000
	0.90
	3600

	Semi-skilled workers
	1680
	1.50
	2520

	
	7480
	
	13,320


Calculate following variances:
1. Labor cost variance.

2. Wager rate variance.

3. Labor efficiency variance.

4. Labor mic variance.

4. Explain concept and process of Zero base Budgeting.






(15)

OR

4. Explain the concept of Activity base Budgeting, Discuss the process and Benefits of ABB.
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